
   

24-MATJ2ME2                                                                                                                                    Page 1 sur 8 
 

 

 

 

 

 

 



   

24-MATJ2ME2                                                                                                                                    Page 2 sur 8 
 

𝑅 𝑄 

𝐴 𝑃(𝐴) �̅�

𝟏𝟎−𝟑 

 P(Q) 𝑃�̅�(�̅�)

 𝑥

 

𝑥 = 0,9

 

 

𝑁

(20; 0,615)

 

𝑁1, 𝑁2, … , 𝑁10

(20; 0,615).

𝑆  𝑆 = 𝑁1 + 𝑁2 + … + 𝑁10

𝐸(𝑆) 𝑉(𝑆) 𝑆

 𝑀 =
𝑆

10
 

 𝑀
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 𝐸(𝑀) 𝑉(𝑀)
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𝑚3 𝑚3

𝑚𝑔 ⋅ 𝐿−1

𝑚𝑔 ⋅ 𝐿−1

𝑚𝑔 ⋅ 𝐿−1 𝑚𝑔 ⋅ 𝐿−1.

 𝑚𝑔 ⋅ 𝐿−1.

 𝑛 𝜈𝑛 𝑚𝑔 ⋅ 𝐿−1

𝑛 𝜈0 = 0,7.

𝑛 𝜈𝑛+1 𝜈𝑛

𝑛 𝜈𝑛 ≤ 𝜈𝑛+1 ≤ 4.

𝜈𝑛

 

 

𝑛 𝜈𝑛 > 𝑠

 

𝑥 𝑓(𝑥)

𝑚𝑔 ⋅ 𝐿−1

𝑓 (𝐸): 𝑦′ = −0,08𝑦 +
𝑞

50
𝑞

 𝑓 𝑓(𝑥) = 𝐶𝑒−0,08𝑥 +
𝑞

4
 𝐶 

 𝑞 𝑓 +∞



   

24-MATJ2ME2                                                                                                                                    Page 5 sur 8 
 

 𝑚𝑔 ⋅ 𝐿−1

𝑚𝑔 ⋅ 𝐿−1

𝐶 𝑞
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𝑓 ]−2; +∞[ 𝒞𝑓

𝑓′ 𝑓′′

𝒞𝑓 𝑇 𝐵

𝑇 𝐴(0; −1)

 𝑓(−1) 𝑓′(−1)

 𝒞𝑓 

 𝑓(𝑥) = 0 

10−1

𝒇

𝑓 ]−2; +∞[

𝑓(𝑥) = 𝑥2 + 2𝑥 − 1 + ln (𝑥 + 2)

 𝑓 −2

lim
𝑥→∞

𝑓(𝑥) = +∞

 𝑥 >  −2 𝑓′(𝑥)  =
2𝑥2+6𝑥+5

𝑥+2
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 𝑓 ]−2; +∞[

 𝑓(𝑥)  =  0 𝛼 ]−2; +∞[

𝛼  10−2

 𝑓 𝑥 ]−2; +∞[

 𝒞𝑓

𝑔 ]−2; +∞[ 𝑔(𝑥)  =  𝑙𝑛(𝑥 +  2).

𝒞𝑔

(𝑂;  𝐼, 𝐽),

𝑀 𝒞𝑔 𝑥

𝑥  𝐽𝑀

ℎ ]−2; +∞[

ℎ(𝑥)  =  𝐽𝑀2.

 𝑥 >  −2 ℎ(𝑥)  =  𝑥2  +  [𝑙𝑛(𝑥 +  2) −  1]2

 ℎ ] − 2 ;  +∞[ ℎ′

𝑥 >  −2

ℎ′(𝑥) =  
2 𝑓(𝑥)

𝑥 + 2

𝑓

ℎ ] − 2 ;  +∞[.

𝑥 𝐽𝑀 𝛼 𝛼

 𝑀𝛼  𝒞𝑔 𝛼

𝑙𝑛(𝛼 +  2)  =  1 − 2𝛼 − 𝛼2

𝒞𝑔 𝑀𝛼 (𝐽𝑀𝛼)
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𝐴(2;  0;  0), 𝐵(0;  4;  3), 𝐶(4;  4;  1), 𝐷(0;  0;  4 )  𝐻(−1;  1;  2).

𝐴, 𝐶  𝐷 𝒫 8𝑥 − 5𝑦 + 4𝑧 − 16 = 0.

𝐴, 𝐵, 𝐶  𝐷

(𝐴𝐶) (𝐵𝐻)

(𝐴𝐵𝐶) 𝑥 − 𝑦 + 2𝑧 − 2 = 0

𝐻 𝐷 (𝐴𝐵𝐶).


